MODELS:

SUBJECT:
SETTING:

NOTE:

DNCB240/138-
INCB368/216-
DNCB440/252-
DNCB414/239-

5§66
788
7 §8
961

269

Date: June 11, 1984

Revised: November 15, 1988
INCB180/105-5 Pepsi
INCB180/105-5 Other
DNCB360/210-6

1 1/4'" Deeper
0

Shimming Instructions - European Bottles and Cans

See Bulletin #247

Number of shims needed may vary according to the bottle being dispensed.

FOR TNCB240/138-5
ORDER KIT AS:

KIT K-3-6 CONSISTS

€276,010,300.
.03
B270,010,060.
B801,804,960.
€276,010,600.
.03
.03
B267,014,000.
11
267,012, 300.
.03
901,000,190.
.01
900,800,650.

C276,010,400

€276,010,700
B267,014,100

B901,303,630
901,901,900

900,201,480

FOR DNCB368/216-7
ORDER KIT AS:

KIT X-3-8 CONSISTS

NN RN O osS

C270,010,200.
.03
.03

€270,010,300
B270,010,060

B801,804,960.
.03
.03

€270,010,500
€270,010,600

B267,014,100.
B267,014,000.
B901,303,630.

OF:

03
03
11
03
03
03
02

01

OF:

03

11

03
03
11

267,012,300.03
901,901,900.03
901,000,190.02
900,201,480.01
900,800,650.01

B/M276,010,800.04

B/M270,010,900.04

K-3-6

W/A Wall-Left-Wide Column

W/A Wall-Right-Wide Column

Flat Shim Metal-6 3/16 x 12 7/8 x .063-Wide
Flat Shim Plastic-6 3/16 x 12 7/8 x .093-Wide
W/A Wall Left European Bottle - Narrow Column
W/A Wall Right European Bottle-Narrow Column
S/A Bottle Neck Retainer Shim-Right

S/A Bottle Neck Retainer Shim-Left

Flat Shim Long

Ass'y. Bottle Rod Long

White Plastic Tube

Bottle Opener

Screw (10-32 x 3/8'")

Keps Nut (10-32)

K-3-8

W/A Wall-Left-Wide Column

W/A Wall-Right-Wide Column

Flat Shim-Metal-6 3/16 x 12 7/8 x .063-Wide
Flat Shim-Plastic-6 3/16 x 12 7/8 x .093-Wide
W/A Wall Left European Bottle-Narrow Column
W/A Wall Right Europena Bottle-Narrow Columm
S/A Bottle Neck Retainer Shim-Right

S/A Bottle Neck Retainer Shim-Left

Flat Shim Long

Ass'y. Bottle Rod Long

White Plastic Tube

Bottle Opener

Screw 8?%—32 x 3/8")

Keps Nut (10x32)

Page 1 of 4



Service Bulletin #269

FOR DINCB 440/252-7 § 8
ORDER KIT AS: B/M267,013,500.04 K-2-8-79

KIT K-2-8-79 CONSISTS OF:

C267,013,400.03 W/A Wall-Left-Wide Colum
C267,013,300.03 W/A Wall-Right-Wide Column
B270,010,060.03 Flat Shim Metal-6 3/16 x 12 7/8 x .063-Wide
B801,804,960.11 Flat Shim Plastic-6 3/16 x 12 7/8 x .093-Wide
267,012,300.03 Ass'y. Bottle Rod -Long-Narrow Column
901,901,900.01 White Polyethylene Tube (10 3/4 Long)-Narrow
B267,010,130.03 Formed Shim-Metal-.031 x 2 57/64 x 12 7/8-Narrow
B901,303,630.11 Flat Shim-Metal-.031 x 2 5/8 x 12 7/8-Narrow
901,000,190.02 Crown Puller
900,800,650.01 Keps Nut (10-32)

900,201,480.01 Screw (10-32 x 3/8)

—
HNWHNO B0

FOR INCB 414/239-9 & 10
ORDER KIT AS: B/M350,010,100.04 K-2-10-79

KIT K-2-10-79 QONSISTS OF:

1 C267,013,400.03 W/A Wall-Left-Wide Column

1 (C267,013,300.03 W/A Wall-Right-Wide Colum

2 B270,010,060.03 Flat Shim Metal-6 3/16 x 12 7/8 x .063-Wide

2 B801,804,960.11 Flat Shim Plastic- 6 3/16 x 12 7/8 x .093-Wide

9 267,012,300.03 Ass'y. Bottle Rod-Long-Narrow Column

9 901,901.900.01 White Polyethylene Tube (10 3/4 Long)-Narrow

8 B267,010,130.03 Formed Shim-Metal-.031 x 2 57/64 x 12 7/8-Narrow
7  B901,303,630.11 Flat Shim-Metal-.031 x 2 5/8 x 12 7/8-Narrow

1 901,000,190.02 Crown Buller
3 900.800,650.01 Keps Nut (10—32%
3 900,201,480.01 Screw (10-32 x 3/8)

1
2

FOR DNCB 360/210-6 - Pepsi
ORDER KIT AS: B/M288,010,100.04

KIT K-4-6 CONSISTS OF:

6 (€270,010,200.03 W/A Wall-Left

) C270,010,300.03 W/A Wall-Right

12 B270,010,060.03 TFlat Shim
12  B801,804,960.11 Flat Shim

1 901,000,190.02 Bottle Opener

3 900,201,480.01 Screw (10-32 x 3/8)
3 900,800,650.01 Keps Nuts (10-32)

Page 2 of 4




Service Bulletin #269

FOR INCB180/105-5 PEPSI
ORDER KIT AS: B/M275,050,900.04 K-2-5-PC

KIT K-2-5-PC CONSISTS OF:

5 (C275,010,800.03 W/A Wall-Left
5 (C275,010,700.03 W/A Wall-Right
10 B270,010,060.03 Flat Shim
1 901,000,190.02 Bottle Opener
3 900,201,480.01 Screw (10-32 x 3/8")
3

900,800,650.01 Keps Nut (10-32)

FOR DNCB180/105-5 COKE
ORDER KIT AS: B/M275,050,800.04 K-2-5

KIT K-2-5 CONSISTS OF:

5 C275,010,500.04 W/A Wall-Left
5 (C275,010,600.03 W/A Well-Right
10 B270,010,060.03 Flat Shim
1 901,000 190.02 Bottle Opener
3 900,201,480.01  Screw (10-32 x 3/8'")
3

900,800,650.01  Keps Nut (10-32)

FOR DNCB300/175-5 COKE
ORDER KIT AS: B/M448,010,200.04

KIT CONSISTS OF:

5 (€290,010,100.03 W/A Wall-Left
5 C290,010,200.03 W/A Wall-Right
10 B270,010,060.03 Flat Shim
1 901,000,190.02 Bottle Opener
3 900,201,480.01 Screw (10-32 x 3/8")
3

900,800,650.01 Keps Nut (10-32)

FOR DNCB300/175-5 PEPSI
ORDER KIT AS: B/M465,010,100.04

KIT CONSISTS OF:

C270,010,200.03 W/A Wall-Left
C270,010,300.03 W/A Wall-Right
B270,010,060.03 Flat Shim
B8&01,804,960.11 Flat Shim
901,000,190.02 Bottle Opencr
900,201,480.01 Screw (10-32 x 3/8")
900,800,650.01 Keps Nut (10-32)

=
W = O S U1

Page 3 of 4



Service Bulletin #269

FOR DNCB360/210-6 COKE
ORDER KIT AS: B/M290,010,300.04

KIT CONSISTS OF:

€290,010,100.03 W/A Wall-Left
€290,010,200.03  W/A Wall-Right
B270,010,060.03 Flat Shim
901 000,190.02 Bottle Opener
900,201,480.01  Scew (10-32 x 3/8)
900,800,650.01  Keps Nuts (10-32)

—
N W= NNy

For 300ml Can in 1 1/4" Venders:

Wide Column: 1 Flat Black Shim each side: 801,804,960.01
Double Depth
Bottle Guide Hole 17

Narrow Column: 1 Left Formed Shim: 801,804,950.01
Double Depth
Bottle Guide Hole 17
Cam Setting Hole #3

Note: When vending 300ml can in an accommodator, special sold out paddles must
be used in transferring columns
Wide Column - 381,070,230.03
Narrow Column - 381,070,240.03

For 296ml can in 1 1/4'" Venders:

Wide Colum: 1 Flat Black Shim each side: 801,804,960.01
Double Depth
Bottle Guide Hole 23
W/A Left Divider - B438,010,300.03
W/A Right Divider - B438,010,200.03

Narrown Colum: 1 Left Formed Shim - C801,804,950.01
Single Depth
Bottle Guide Hole 3.
Cam Setting Hole #4

Note: This can is the same diameter as a 12 oz. can, but approximately only 4 1/8"
long.

Page 4 of 4

— ———




